| Efficiency vs Dxy |

> 0.1
Pad
i®)
.09
>
3.08
D
D.07
©
0.06
0.05
0.04
0.03
0.02
0.01
0

....................................

...................................

1

Ratio

0.8

0.6

i

_2B20-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—a— D
——

| Efficiency vs Dz |

—— D

—— D

——D

D§M

MSte
ste
Mste

3 TT CKF
p3_TT default

ckfPixelLess
default-relf4
p3_TT default-relf

Mste
Mste

~N 0.1
©
9.09
Py
Hos
(&)
.07
()
0.06
0.05
0.04
0.03
0.02

.............

AR H

H tat
M+

i

=20

30
TP dz (cm)




	Contents
	Page 1


